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PRAED
Vi= 4.126 X 0.500 X 2 = 4.13
V2= (4.126 + 0.000) / 2 X 0.755 X 2 = 3.12
V3= 5.224 X 8.020 = 41.90
XV = 49.15 50 m
HRL
V1= 3.968 X 0.500 X 2 = 3.97
V2= (3.968 + 0.000) / 2 X 0755 X 2 = 3.00
V3= 1.325 X 2 X 8.020 = 21.25
XV = 28.22 30 m
7 ALER

V= 49.15 - 2822 / 0.9 = 17.79 20 m
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K9 IAIN —=h
PN ZEMR2300% PN Z8 156005 5 52000
N= 4 &
L= 2.000 X 4 = 8.0 8 m
A2 73—k
o Y—hk 18-8-40BB(W/C=60%)
V= 0.639 X 8.000 = 5.11 5 m
KEEAEIR
T MRS
Al= (1.106 + 0.974 + 1.242
+ 1.119) X 1255 X 2 = 11.15
SA = 11.15 11
g Y—hk 18-8-40BB(W/C=60%)
V= 1.869 X 1255 X 2 = 4.69 5 m
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27 —RHEIFL
¢ 19X 130mm
N= 11 2 = 22 22 fEFT
T —
WS 72T J1— DI6H
N= 11 2 = 22 22 &
R
SD345 D16 HiE1.56kg/m
G1
W= 0520 X 11 X 2 X 156 / 1000 = 0.018
G2-1
= 1530 X 11 X 2 X 1.56 / 1000 = 0.053
G2-2
= 1670 X 2 X 156 / 1000 = 0.005
G2-3
W= 1.470 X 2 X 1.56 / 1000 = 0.005
SW = 0.081] 0.08 t
SD345 D19 HiE2.25kg/m
G3-1
W= 2820 X 2 X 2 X 225 / 1000 = 0.025
G3-2
= 2820 X 2 X 2 X 225 / 1000 = 0.025
SW = 0.050] 0.05 t
Tl e
/NS
Al= (0.482 + 0.380) / 2 X 2907 X 4 = 5.01
A2= 0.377 X (0.482 + 0.380) / 2 X 4 = 0.65
SA = 5.66 6 m
a7y —h
24-12-40BB(W/C=55%)
V= (0.482 + 0.380) / 2 X 0.350
X 2907 X 2 = 088 0.9 m
PR
T
A= 2907 X 0350 X 2 = 2.0 2 m
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N=2 X 6 12 12 &
B A 1
Gr-C—-2B-4-BPL(}2)
[= 2882 X 2 5.8 6 m
BE—2A CHli 2.3X2212
N= 2 2 2 A
CHE #h 2.3 X660
N= 2 X 2 4 4
Tk BPL CH& 4 A 4.5X114.3 X850
N= 3 X 2 6 6 K
R CFf 3.2 X 1882
N= 2 2 2 &
CT&E il 3.2 150
N= 2 X 2 4 4
ALY CFf 4.5X 300
N= 3 X 2 6 6 &
I N AN CFlE M20X 145 72N 75 r v R RIER
N= 3 X 2 6 6 K
CHE M16 X35 K- — A0 H Z4KR6ME /1 v — 21448 /41
N= (6 + 14 ) X 2 0] 40K
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Sk 7Y —]
18-8-25BB(W/C=60%)
V= 4.000 X 2907 X 0.101 1.17 1 m
e Bh 7k T
v—h%
A= 4.000 X 2907 11.63 12 o
AR B Hiks & 30+ E.5mm
L= 2907 X 2 5.81
581 / 11.63 X 100 50.0 | 50.0 m
/1000824 1)
TAT 7V NEREE T
= HURIEE20 t=40mm
A= 4.000 X 2.907 11.63 12 m
ESE] BT FER Y v— 08 TR 13F t=40mm
A= 4.000 X 2.907 11.63 12 m
Jiygn
Sk M-40 t=200mm
A= (1.395 + 1.297) X 2.990 8.0 8 m
ESE] FAE SR 20F t=40mm
A= (1.395 + 1.297) X 2.990 8.0 8 m
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T AT 7V MEERR t=5cm
BERAE I
Al= 2,990 X  3.550 = 10.6
IRIEY S 2B b4
A2= (1.074 + 0.976) X 2.990 = 6.1
SA = 16.7 17 nf
V= 16.7 X  0.05 = 0.84 | 08 m
&L bl
HEf )
FR/i-Z YN
V= 1.869 X 2875 X 2 = 10.7 11 m
PR
BT
V1= 0.350 X 0.150 X 3.550 = 0.4
V2= 0.200 X 4.140 X  3.550 = 2.9
i
V3= 0.500 X (0.460 + 0.727)
4.780 = 1.4
V4= 0.500 X (0.585 + 0.854)
4.780 = 1.7
LV = 6.4 6 m
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